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Lecture 1

e Whatis Grammar?

e Grammar : is defined as the rules that say how words are combined, arranged and
changed to show different meanings.

Dl L s 5 L 5 5 ClalSl) mand oy (S il 5 Al 2o )l gaill iy jad oy 1 el
u.S... ‘“;.’IM

E.G. teacher, student, question, asked

e.g. 1. The teacher asked the student a question. callall Jlu aleall i) sagia dlen Ll & jedab Sl L
e.g. 2. The student asked the teacher a question. alxall Jluy caldall (5 53 dlas i Cagi il a3 (Saas

The largest unit of grammar is the sentence

aloal) La 45l o gl sas g 5]

Sentences : A Sentence is a group of words that expresses a statement, question, command or
exclamation. A sentence consists of one or more clauses, and usually has at least one subject and
verb

Types of Sentences:

1. Statemen:
A sentence which gives information. (Declarative) 4 =i ) 4y pai ooy _aud
e.g. He is studying. 4 =i ol 4y poal alen ol apily ales & a5l add e il glaa Lilae)

We can make statements either affirmative or negative.
Al 5l 4gdie 4ball alaadl Jasd o) (Saa
v e.g. 1. | have found a mistake already. (affirmative)

Sl & il e Al Ales aleal) o3a

is
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v" e.g. 2. | have not found any mistakes yet. (negative )
Gl JEd) 8 V) alead) Jad < S50 LY 4piie dlas aleal) o2

Apiia alax 0683 Aday B i 13 (ot - any - yet ) Sjlals g g Badks

2. Question : Jlsdl

A sentence which asks for information or makes a request. (Interrogative)
Gl o aali ) daglae g Jhd alen a5 dnalgiin) alas Liay) auy

e.g. Is he studying? ((wou 5o Jb ) dashe e dloy Lia

e.g. Canlgo study? (ol cad ol A zlewl cillay ) Qlla e a0dy Ua

3. Command : x5 5l )8 gl el aal ales

A sentence which gives an order or makes a suggestion. (Imperative) 4xis 4laa Liay) oy
e.g. Go study. (o™ cadl ) 5l Lia

e.g. Be careful! (4l ) (28 (e sodng 7 8 Lia

4. Exclamation : 4uaail
A sentence which is used to express the speaker’s feeling or attitude.
Aol o) Ca8ga gat Gaatall jelia Ciia g a0d0us
e.g. What a lovely day!
e.g. Excellent!
o grdi iy dixadial) cpiilaal) B

«* Exercise

Identify the type of each of the following sentences

a. statement b. question ¢. command d. exclamation
4aglaa e Eaa €) 2 g ilaay
1. How often do you come here? (b ) s (F) 22
. . . S 22 ) J=dl) g Camal dadle O gl LY dnaal alaa
2. How interesting this article is! (d ) p o s = e

Jelall

alen ol 4leal) o3 (Slp | o gl dlaall o) oG

., |
3. Hurry up before the train’s departure! ( ¢ ) oY Aism Aleall Al dpias

? o n -
4. How interesting is this article? ( b)) (F) 255 n dashea 0o o

5. This article is very interesting. (a ) shee e e 32 02
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Simple, Compound and Complex Sentences:  5éxall 5 48 jall g adasll alesl)

1. Simple: The manis here . 4w alaa 13 Jla - Jzé - Jeld

2. Compound: The man is here, and he wants to see you. 4 s alea Ciapali gnd Ll

3. Complex: The man that wants to see you is here. sz alea Cinval o alaall ) That Ll

We will discuss compound and complex sentences in detail in the coming lectures.

Verbs : The verb is the central unit (nucleus) of an English sentence.
s laiYl a1 3 aleall Al siall s )1 g Jadl
Verbs can refer to actions,

v" e.g.run,walkand talk, Ul J8 e Sasd Sl
v or states, e.g. want, have and be. =il s e yati Ua

Main vs. Helping Verbs: o3 buall Jlad¥) s dglual) JladY)
Each English sentence has a main verb.
bl dad o (g giad 4y eVl Al (8 ades S
v e.g. Mohammed walked home.
Walked :  bo¥) Jadll 58
v e.g. Khaled is happy.
Is @ o) Jaill s
Some sentences also require one or more helping verbs (auxiliary verbs).
D8I ghaald s sl Jaé e (5 5iad daadl Gan
v" He is coming to the meeting.
Is: &l s aclia Jad il
Coming : (sl Jad
v" He could come here soon.

Could: s »3 8030 5l aela Jad

(2”)
Come:i%gwm‘ Jad i } M
"\,‘“ :
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e Helping verbs (auxiliaries) include: (AGS ¢ sS5 3as Lusal) JladY)

) (g b danld Jlad |53 S, 38

1. be (is, am, are, was, were)

2. have, has, had Heis here : Jia

3. do, does, did bl Jad il [ Ua

4. Modal auxiliaries: can, could, shall, should, will, would, may, might.. etc.
+ Exercise:

Identify whether the underlined verb is the main verb or the helping verb of each sentence
below.

a. main verb b. helping verb
1. Students like fast food. (a) bl Jad ga
2. He has enough money for the trip. (a) (3] Jrd ax o Y 4SY ) oul) Jad 52

3. Khaled does not want to go to school today. | (e~¥) Jill (A want ¥ ) aelua 2
(b)

4. He is helping me wash the dishes (a) (aebusddl Jadll sajs (Y) (ouibasl Jad
5. He will arrive shortly. (b) (=) Jadll saarrive oY ) sclue Jaé s
Transitivity:

Verbs are divided into two groups based on transitivity:
agsaill 4l Gl e e sane I pniil JLadY)

1. Intransitive verbs: are verbs that require no objects.

.............................

A. Monotransitive verbs: are verbs that require only one object
g Jsrie o gsiad Al JadY) o
v e.g. Khaled broke the window. 3y 4 Jgda o s ging

MAWRID SOLUTION
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B. Ditransitive verbs are verbs that require two objects. 43 0¥ s2ie e (5 5iad Al JdV) a
v e.g.Saleh gave Majid a pen. 4 (¥ grda o 5 giny
% Exercise:

Decide whether the underlined verbs are:

a. intransitive b. monotransitive c. ditransitive
1. The studentneedsapen. ( b ) 54 Jsrde o (g il
2. Alitold his friend a joke. (¢ ) 4 (Y prha Slo (5 g
3. Students study. (a ) L dsie e g5 Y
4. Students study books. ( b ) s 4 Jsrde Slo 5

Note: Some verbs can be either intransitive or transitive.

Alaall s 138 g da Y (oS0 BB g dgdatia ()¢S5 28 JladY) (jany 1 ddiadla

e Direct vs. Indirect Objects: il il 4 Jgrdall aa 3Ll 43 J s2al)

As we saw in the previous section, ditransitive verbs take two objects. One of these objects is
called a directs object and the other one is called an indirect object.

(direct object) sl 42 Jsxia (158w agia 2al5 43 OY saie 220 Juad¥) iany Gl anll b Wil LS
(indirect object ) il s 43 Jsnie oS AV
The indirect object comes first followed by the direct object in this example:
DLl 4y Jsniall o ey JsY) (A l pilae sl 45 Jsaiall 32le
v" e.g. He gave me a book.
Me : dle e 45 Jsnia
A Book: _ilw 4 Jsrie

The indirect object is typically personal as in “me” in the previous example, and “the man” in the
following example:

-3 W @assrar_atket : I IAc g +0EE+AAALE—200Y s VAASY (L i — dnasall! Olaciell Jobnd! 3\g4 pryerrrweres




the man: add sy Hilu e 4 Jsie
a question: Al 4 Jsada
The indirect object is often equivalent to a prepositional phrase with “to” or “for”

v' e.g. He gave a book to me.
v" e.g. He bought a gift for his son.

€ alaall B bl pe s 8l 4 Jsriall G el
nekel o dsila 1 He gave me a book e Js¥1 Jld) J) kil : J
Jlis L 8lall 4y Jndall 5o " Q" O3 " S e € e 13
o8l e Jsadall (A MU Ay (A elael L € (al slae 1 Lial
UL B UL S B G DAY cive [ N | 8 [ [ 8 N B
O LMl a8 ol it s Jlay L bl Jemiall b " A"
Akl e 4y Jamiall M "
ALY 3 Y5l ela B 80l e 4n Jsmial) QS 2 s ala AT Jlse I b g
¢ OSal) Gy o S Jed L o) Jgmiall oany sla o5 4G
¢ e e Joniall &3 Yl il Jgmia) b O (Sa da
Culia ya Cioa padiiad O cag Alal) sda 3 (STy L axi 1 oa Jigadl 138 e syl
tob WS Aaall i i 055 for 5 to Ll Lails sas
Lkl e J i) (5) Jall s (4) il Jsmiall (3) ddll (2) delli(1)
TV bl Jsmiall Sl Gums a5 13 Gibiall i) S pas (oS JaaY
. dadll |, gave JeW ; He 4kalloda 4He gave a book to me .
Ale e Jeddl Lo me s s L to il dseidla book
iilaall o3 8 L 1 She bought a present for her .. S Jadl
o cia, for Ldldl Js=idl | @ present d-dl .. bought JeWiShe
e e Jseidl, her

MAWRID SOLUTION
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Lecture 2

0,

¢ What is a phrase?

A phrase is defined as two or more words that function together as a group.
ac saaeS lae Jond I S0 ) (el e ) o3 7 5 Ll
v'  e.g. The old man walked down the street.

The old man : Jeld gl e s

There are a number of phrase types in English including:

1- noun phrases, (‘\-JM‘ RAPEN ‘*—“5) daan) o jlaall
2- verb phrases, (4nlnd alon 4nl) anledll 5 jlaall
3- adjective phrases, ( Coagalan 4nd o) Aviad alas 40l ) agindll o Hlaall
4- adverbial phrases e S I 4_“15).& s 40 ) 4_)3)}:5\ s 5Ll

5- prepositional phrases. ();),AA; s ales 4ud ) Saoaally Jalls e
Each phrase has a head and one or more modifiers.
Janh (e ST 5l asly Jands sl il Ld 3 ke S
The Noun Phrase (NP):
A noun phrase (often abbreviated to NP) is a convenient term for any of the following:
(NP) ) »aidiLe 5
1. A Noun:: e.g. Ahmed, students
2. A Nominal Group : e.g. a blue pen, the students

Each nominal group has a head and one or more modifiers.

Jia (a JS) ) aal g Jarag aalg il L A A gaza JS

-1

o Modifiers add to, change or limit the meaning of the head in a phrase. The head is the

word that determines the type of the phrase.
Bkl £ o3 aaal Al AalSl) ga (il g B tadl B il ra (e dall g il ) Ciudal c el

o For example, the word “pen” is a noun that can refer to any kind of pens. When we
modify it as in the previous example “a blue pen”, we limit the noun so that it can only
refer to a specific kind of pens.

Aldl) £ o5 Uaaa U (8 50 Al ) e Jotil) day oDBY) (0 £ 68 () (A i B ol g ((al8) AalS

" 5

MAWRID SOLUTION
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Some other examples:

Ahmed’s des , el dglh puaid teal g addl) 138 g Gaddl sadaa & 4l glall Ua
a book store, Sl (ae ruaid Sl g g A 5i ddaa gA Jaall Lid

the student, alUal) gruaid "I ciy el 811 dda s M) g Sdaa ply calla Lia

3. A Pronoun A pronoun is a type of “pro-forms” which are defined as forms used instead of
other forms. Instead of using the nominal group “the old man” we can use the pronoun “he”.
Pronouns

G AY ziall e Y dasiiiod) zilalll A 5 4l gl zIlalll o) oaigal) ZALai) (e £ 53 8A aall

(he) sl a2dis (the old man) aliiv) e Ju

«* Pronouns Include :

a. Personal Pronouns:  4xaddll yiladll

Subject Pronouns Object Pronouns Possessive Pronouns
Jeldl) jilaca 4 Joadal) jilaa sl jilad
1, you, he, she, it, we, they me, you, her, him, it, us, them | mine, yours, hers, his, its, ours,
theirs
b. Reflexive Pronouns:  4swlSaiy) ilaall

myself, (i

yourself, il

himself, 4«

itself  Jlall i) Lgadi | dudi

c. Indefinite Pronouns:  sitaa il iladll

everyone, someone, something s, Logadd, aly s
4. A Pronominal Group : el 483le 33 (5 e 4o sena

v eg.weall, lues oas
v' e.g. everyoneinourclass Ulad 3 awall

- | m/)

[y )
\ iy / WY @assrar_atket : gluiiiegane <08-ARREE-0OV+YAROY (sl ol ~dsaal) Sl Jylnll 3yl g4 g
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In a pronominal group, a pronoun is the head. The pronouns “we”and “everyone” in the
previous examples are the heads of the pronominal groups.

sluy ) b Al PN & "everyone" 5 "we" el U,u\)l\ 9 yaall ( jranllh ddle 5 S Ac gana @
_jpgﬂgﬁﬁnjﬁgjyubdlgygd|
&

s Exercise

Identify the type of the underlined NP.

da. noun

b. nominal group C. pronoun d. pronominal group

M&J&Qy&m[ﬂkﬁ e b yle
1. The children wentto bed late. ( b ) ) TR 08 B

Sl e ;
2. I made this cake myself. ( c) @lSadl pe s (1) e 255

Al A8 gana A GlS 3 e 3 le
3. Ahmed owns an expensivecar. ( b ) o o=

| |
4. Khaled bought a book. ( a ) o

S R N PR A 9
5.The bookishis. ( c ) ol ¢ Sl yana

6. Someone in our office forgot to lock the peally 3late jrea
door. ( d )
e Nouns

Nouns can be divided to:

1. Proper Nouns: e.g. Ahmed, Al-Ahsa

A proper noun is the name of someone or something that is usually imagined to be unique.
as glAe 5 e p R A Heal (5 ) paddanl g dsaaiall clewd)

el ey juee gadd 4l @l 4 iy dea) sl pend Ladie — daa)

("r‘k\j‘" asnall clawl) &R AT ) slua¥l e jee OSa 4l el @ BV EEANERY gl Ladie — claal!
2. Common Nouns: e.g. friend, desk, bird, air

A common noun is a name given either to an example of a class or to the class as a whole.
“Friend” refers to one example of a class in the following sentence:

JSS 4l a4 o Ylia Ll (3l (31 Y] 8 4S ikl s

MAWRID SOLUTION
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v' e.g. 1. Ahmed is a good friend. )y padd A ) saa) o 3gas Ua
“Friend” refers to the class as a whole in the following sentence:
v' e.g. 2. Afriend is somebody we like and know well. JsS 43dl) lo 3ga5 Ua
“Friend” in example

v e.g.3iscalled a generic noun. ale al Ua

+» Exercise

Identify whether the underlined noun is:

a. a common noun (example of a class) b. a common noun (generic) C. a proper noun

<l e e e ol

1. Mohammed gave meapen. ( a)

OSS 2l e JBe ane o

2. A pen is an instrument used for writing. (b )

Gl e Jhe s ol

3. Khaled’s carisnew. ( a )

: — 3
4. Khaled hasanewcar. ( ¢ ) e padd e gy

JSS aidl) e JBe e ad

5. Fruit is good foryou. ( b)

» Common nouns are usually found in nominal groups to help the speaker say which
particular example of a class he has in mind.

Al A Goha Al L) 4l o b J 8 A sl aelud denl de gana B () oS0 Bale 48 A elan)

v' e.g. 1. The students were waiting for the teacher.
The students : iy a3l 513) Uddal La day ¢uas 138 g dudhal) e 48 gana Udas s duthal) fax (5 Gaadi ol Ua
43 2 9 dddaa C;su.\al.‘.
The teacher: Casald Ciy il 3131 LAY La day ¢uas 138 g aal g Plu Laaa gy cilaleall e (S duaatl cd Ua
4.5):.43 [REES

v e.g. 2. The teacher’s desk is new. alxall 3 g3 alglall ¢ a5 4l glall 438 2aa Uy

D

SN
) -
MAWRID SOLUTION
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» Proper nouns will not normally be modified this way. In other words, modification
differs between a common noun and a proper noun.

Proper and common nouns (as well as pronouns) can refer to something animate or inanimate.
a. Animate ~
Animate nouns refer to a person or animal. () ss ) aldil
v' e.g. Ahmed, friend, bird
b. Inanimate a2
Inanimate nouns refer to a place, thing or an idea. 3,88 o) (28 o (1Sa () add 3alead) sla¥)
v' e.g. Al-Ahsa, desk, air, freedom

Count vs. Mass Nouns 3253 sl 2 33 s0eall slans)

Nouns can either be countable (count nouns) or uncountable (mass nouns).
Count nouns such as “friend” and “man” can be preceded by “one” and may
have a plural form such as “friends” and “men” which can be preceded by a

number higher than one,

¢ c.ufu:ual.@u}&\ L‘j Say one usd.\ﬁwd_\.u\iﬁ man - friend Jie s2saxall claws¥)
aal s e Sl Tase i o (Ka 535 friends - men Jia

v e.g. “two friends” and “ten men”.

Mass nouns such as “bread” and “milk” cannot be preceded by “one” and
do not have a plural form.

el dapa Ll Gl s "one” Gaa O GSar Y "milk" 5 "bread” die 3250 sl clauY)

Some nouns can be used as both count and mass nouns according to the
speaker’s meaning.

Ganiall Jina Ty 3ame e 935200 and S Lgaddin) Sy elaw) jiany

v’ e.g. 1. Light travels faster than sound. (mass noun) 83gdaa & Siela L

\/%g.g. 2. There are two lights by his desk. (count noun) 3433 Gl LA

MAWRID SOLUTION
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Collective Nouns : daclaall slan)
A collective noun is a singular word used to refer to a group.
@jm‘sl\ﬁjuyadaiﬁﬁd_)uus}é‘scw\ e-mY\

v e.g. family, (sl (w2
v’ e.g. team, public. oaliddY) (e de gara

A collective noun can be followed by a singular verb (e.g. is) or a plural verb
(e.g. are). It may be associated with a singular possessive form (its), or a
plural one (their).

e lld 5 5 3 (e.g. are ) aead) Jad i (0., is ) 2okl dads aiy O Sy o= laadl auY)
w\ 4z ua

(their ) aeall 48l dapa i (its) 2kl
v' e.g. 1. Our team is the best. Out team are the best.
Toa Laa S (are ) 8 (is) 80 S

v e.g. 2. Ahmed’s family moved to its new home. Ahmed’s family
moved to their new home.

znaa L3S (their) 3« (its) 3« <uiS

Note: It is reasonable to be consistent when using collective nouns as either singular or
plural. In American English, they are frequently singular, while they are more
frequently plural in British English.

5V Al 3 gand) drpay gl 3 yiall sy Lol 488 gia (55 0 e leall slaw) alasind sie J giaal (10
Ay ) A Sl Al (8 pend) By 0685 ST Lai 3 dall Ay (585 Gl (e S A 5aY)

< Exercise

Decide whether the following NPs can be followed by:

a. a singular verb b. a plural verb c. both are possible
1. Ahmed’s young brother ( a ) ST PRSP R EN RPN
2. his family ( c ) aox ol - Adlile

3. juice ( a ) dgdra pE aul - juac

4. the company ( c ) e anl - a8 )

5. men ( b ) e dapa - s

15




Lecture 3

e Modifiers: In our previous overview of phrases, we mentioned that each phrase
has a head and one or more modifiers.

Jaee e S) 5l Jara g aal s Gl ) Led 3 5ladl o)) U S5 280 @l jualadl) b

Modifiers can be divided into two groups:

1- Pre-modifiers are modifiers that come before the head.
2- Post-modifiers are modifiers that come after the head.

PO gaaa ) G dral) andll

1-pre-modifiers : ol Al Jd AU

2-post-modifiers: (il ay AU

Take a look at the following noun phrases (NPs). 4l Axea) &l jlad) o 5 i Al

a good friend
my school friends
the headmaster of the school
the desk
headmaster’s
several students
we all
everyone in our class

@ y@assrar_atket gl Ao e +0EEvAAALE—+00Y+YAAOY (oL bl —dunauladd] Olodell Joloull )94 pryvrrrroeTes
e
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When the head is a noun, modifiers usually precede it. Phrases like “of the
school” follow it. When the head is a pronoun, modifiers normally follow it.

Jie @l e O¥anal () 55 Ladie (81 48 OVl 4 ansl Gal 1 ()5S Leie
paall aay Sl @Yl () 13l (of the school - in our class )
Ay OYara a2 13 head  els s jaaall

e Pre-modifiers in the previous examples include the following main
classes of words: lalSll 4 H) Sl Jadd aailuad) alia¥) 8 4l <Y anll
W (|

1. Adjectives (e.g. good) ald C¥ sl (e aiai(good) die slewl) Jodad Glia

2. Nouns which modify other nouns (e.g. school)

alea 8 school AalS Jie 40l c¥arall e sl o 3 plamd Jans plau

friends sl )l Jaeschool aw¥l la My school friends

3. Determiners (e.g. a, the, my)  &a¥ Juadilly 458, ciiaal)

X/

o Exercise

In the following phrases, decide which of the underlined words is:

a. the head b. A post-modifier c .A pre-modifier
1. a big store (a) (a- big) e olaaas Baws ol I sa( store)
2. the store manager (c) k8 Jaxa (store) o+l & (Manager)
M

?ﬂ-ﬂ

3. the leader of the group ( b) Jas (of the group) w1V sa(The leader)
28 Lia o =3 Y the leader J s Laxind (gany
e (] AiEl) aaas e LGaela Jasall 13l

4. the group leader (c) sla Ladf 5 Jandll sa(the) oY) sa(Leader)
18 Jane g 131 ¢l ) U8
5. someone in my office  (a) A 85 el s il ) sa(someone)

Jaa & 5 (in my office ) s ey sl 3l

Y ey & jilacal) Sale 451 U SO LS 5 gany

Ol aliza 8 Baw elan¥) @) e g 430e
LAld Y e

17




Determiners: Determiners are words which specify the range of
reference of a noun by making it

alza 31k e andl as el g2 228 GllS e B e 4 lasl)
Definite S
v e.g. (the book)

Jan s (UKl J st Ledie Uigd 5 aivnall () G o(QUSI) s GUS (5 ad cadae Caad JU) 128
Chaniall CUSH 138 3 gay 13 e ) galay g 40 galay

Indefinite  (Jseas) Some e
(a book) S i () iy 38
by indicating quantity  _)ie 5 4.8 I T jade
(many books) S e dima ApeS 22
Determiners can be either identifiers or quantifiers.
dasl) gadaa g) culd ma (oS () CpaSy Cilaaanal)

1- Identifiers: tell us either definitely or indefinitely which noun the
speaker means .

Maa pe gl e g Ja Gasiall sdaly A Al GIS 1A L B jas sl el

They include:Jadi cid pal)

b. Demonstratives: c. Possessive Forms of
a. Articles: < g% B LENY) s la Personal Pronouns
ALl pilacall A4S drpa JIS3)

a/an (indefinite articles) | Je Gasiall aclud 46l o3a | my, your, his, her,

? ufg’.ﬂf\ﬁ;ﬁ Gty oAl an) & e 20a5 | ts,) our, their
ohy SRS e OB S ) s jlaY) s die e s L], v (e
28 ) Cus oY) 2aa3 . 2 )

il s Ly ASlall 2aad and ) Wlidil
O sl by 5 _ ,
the (definite article) this, that, 2l

a1 3385 iy a3 813 these, those aeall

)

nnnnnnn

’:ﬁf y@assrar_atket:gwxmw +088+0AAAEE—+00Y+YAAOY ol o —duoudadldf Siladeld Jolonlf 3)fge
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2. Quantifiers: tell us either definitely or indefinitely the quantity of the
noun. Qdaa )g.c j\ J\JS-AJ‘} 3\.}»5]\.1 RREWY e.u:Y\ ULS 13 La \_1‘).133 ‘\_\.ASS\ FRSEWY

They include:Jeds 4asl) gadaa

a. Numerals: 2lac¥)
(cardinal numerals) 4! dlacy)
one, two, three
(ordinal numerals) 4 il slac )
first ,second, third.

b. Words like: <lSIL

much, many, each, every,
a few, little, all, several,
plenty... etc.

+* Exercise:

Identify the type of the underlined determiner in the following sentences

a. article b. demonstrative

C. possessive d. quantifier

1. This exercise is easy. (b))

(s (exercise) ) <L (this) 4lS

2. Their friend is here. (c)

3. The visitor came early. (a)

Cay i 33 o (the)

4. Many people watch the show
every week. (d)

Badaa (A 1)) ¢ La 43aS ¢ 0 S8 Liske | ( Many ) 4als
Al

5. These sentences are
interesting. (b))

(e ol () 0 L&) A (These)

nnnnnnnnnn

’;ﬁf ?;f!@assrar_atket:gw?‘hw +088+0AAAEE—+00Y+YAAOY ol o —duoudadldf Siladeld Jolonlf 3)fge
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Person, Number and Gender: («iall §gi, A, yadd

Person : (=is

Nouns can be personal (humans) or non-personal (animals and inanimate
objects).

(slaadl s Sl gall) dpadds je ol (Ludll) dpadd 5 oS elan) Ol (Kay
Note: Personal nouns can only be animate (because they only refer to

humans). Non-personal nouns can be either animate (when they refer to
animals) or inanimate (when they refer to inanimate objects).

(0585 Ol Lol dpadd ) elan¥) (i) ) Jads 2 ged W) dpad) bl i () 5S3 dpad il clawY) iddaae
(Sles ) it Ladie syl ) (Gliga ) i Ledie sl cululll)
We can also use the term “person” in a different way:

r4dlisg 48y yha) (Person) pllaas alaiiul Loyl WiCey

Traditionally, personal pronouns differentiate between  (m G dmaddd) jiladl) sae

the person speaking (first person)
(ds¥) cihll) o il Ganiall Gaddl)

the person spoken to (second person)
(A i hall) o8 53l Axd) iaaiall (addd)

the people or things spoken about (third
person)
L é:ﬁ\‘g e &aadal) eLdY) ) (Wil
(S i)

1stperson pronouns: I, we
I, we :Js¥) cishll il

2nd person pronouns: you
you : g..il.ﬂ\ ol yilaa

3rd person pronouns: he, she, it, they
he, she, it, they: il Cijhll jilaa

MAWRID SOLUTION
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Number: Ay

Singular (number) or plural (number) affects the form of almost all count nouns,
pronouns and demonstratives.

(B LEY) slacd g siladallg slawdl) alieal JS&I) o i35 Ledld pan o) 33 ke CillS o) gas SasY) 038
Here are some examples: ALY (e, Lia g

Count Nouns: 82 g2xall slaud)
student (singular); 24
students (plural) >

Mass nouns are considered to be singular. 38 Jad (4S5 33 gava yad) slaw)
v e.g. water, rice (singular) (2,%) )Y, skl

Pronouns: slesl

(singular) 1,you, he, she, it il

(plural)  we, you, they ol

Demonstratives: 5 ,L3Y! ¢lol

(singular) this, that; 2,4l

(Plural) these, those @aall

Whether the subject is 1% person, 2" person or 3" person; and whether it is singular or
plural can affect the form taken by the verb.

Jaill 0S5 Ll i 8 an o) 3 ke OIS o gans (CE— 5 — Jl) Gl Jeldll (6 Laie

2e” )

MAWRID SOLUTION

’:ﬁf y@assrar_atket:gwxmw +088+0AAAEE—+00Y+YAAOY ol o —duoudadldf Siladeld Jolonlf 3)fge
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v e.g.

He walks home everyday. (3™ person singular subject)
He: dJdeldi—ojie—licayh o
St ((she—deld Yoo Jhe Calall s Gl il Galall e Jai 3l Aadlall
| walk home everyday. (1% person singular subject)

deld — 3 jhe — Jsl i)
(5) . sa 5 2all Jeldll Callil) Caydall Aadle aleldl Capas Y 3 aall Jelall 531 <okl
They walk home everyday. (3" person plural subject)
They : Jeli — pen — &6 syl o
Jiall 138 & aea (they) 0¥ (walk) dadll e (s5) caui )

(S) . 8 5 2 iall Jeldll Cullil G yhal) Aedle 4lelil Ciini Y ganl) Jeldl) B Cayall b

Gender: ol ¢ 5

The 3" person singular form of personal pronouns can be affected by gender as follows:
Al o) gV cuinll g i lgale i35 a8 4pad il yilaall 3 jaall Gl Caylall U5

1. The masculine pronoun “he” refers to males.

he : LsSA ) judia Sia prada

2. The feminine pronoun “she” refers to females.

she: &Y ) jpda Sisa jpaa

3. The neuter pronoun “it” refers to inanimate

it el A adug Alaall el

MAWRID SOLUTION
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objects, or to a person or animal not yet regarded as male or female (e.g. “Who is it?”).
(52 &0 JEal Jas o )elian 8 ylaall pradall addicd Eiiga gl Sk o) gaad) gl el 13 et Y i 1)

E58 i Y Gua A cpaiall o agal (jt) oY A ) JS3 QSN Qe Y Glgas g) el rciialaal)
oaiall

The distinction between male and female may affect our choice of lexical items (words
or phrases) that could fill a “slot” in the structure of a clause.

JSa el BTG L 8 3 "l e 5) clalSl) " Aanaal) jualiadl o S B AN g SA G (3R
Alagl)

Man , headmaster, woman, actress
Jay  , , byl Aliea
v e.g. 1. Heis a good -----.,
Man and headmaster can fill the slot in example 1.
Man , headmaster _sSill e (la gy Glad) ¢))da
v' e.g.Sheis agood ----- .
Woman and actress can fill the slot in example 2

Woman , actress <UBY) e ol say Gl (513a

Note 1: The suffix “—ess” is found in a number of words referring to women, but there
are other words referring to women that do not have this suffix. e.g. aunt, niece, nun

OS5 oLl ) 3 LS 20 a3 RG] a3 s R A I Ciliad 31 a5 (—ess) AiaY]
(aunt, niece, nun) 4saY) sda @l V5 eluall I juds GlalS ellia

Note 2: Most nouns in English can refer to both male and female.
Lao Y15 oSO 3 gad 4y 3l i) ARl 8 plans¥) alans

o

MAWRID SOLUTION
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v eg.

Friend : AAa | (Ba
Neighbor : S, U
Cousin : ALY gl dand) A JAI g) aadl )
Teacher : dalaa | alaa
Nurse : Ll jan | (2 yaa
Singular 2,4l | Plural el

15t Person I we
IV Ll
2" Person you you
i VAT
3™ Person masculine | he they
LA

She

feminine | she
Caisa
neuter it
A;\lAA
’fﬁf g@assrar_atket:gw?mw *0880AAAEE—+00Y+YAAOY ol o —duoutladldf Cilodell Joloul! /g0

D
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¢ Exercise:
Choose the appropriate pronoun:  uliall el U
1. 1 person plural pronoun Jg <ijb 285 g e
a.he b.we c.they d.you
2. 3" person singular masculine pronoun &b Gi b adg 3 80 jrea
a.they b.it c.you d.he
3. 2" person singular pronoun Ul Cijhll 8 adg 3 8a e

a.you b.l c.we d.she

% W @assrar_atket $ INIASaame +OEEAAREE—200VIVAASY ol ol — Auatallll Siloinll Jolad! 3590 prrvrrrwerey
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Lecture 4

e Whatis a clause?

A complete sentence needs at least one finite, independent clause. A

simple sentence is composed of only one finite clause, so that the

structure of a finite clause is identical with that of a simple sentence.

) 5 3 gane 23y (e Adagad) Alaal) ) oS5 5 JBYI e 5 gana dal y Jiee 23y ALalS) dlaad) 2l ;5 lad) 2 L
dapad) Aleal) @l e ety 3 sasall 2l a3 () @l Lt

Here are some examples of one-clause sentences:

Alen (& Bl iy oaal g3 le LIS

1.1 have just telephoned Mohammed.

I - supject Have - helping verb Just telephoned - main verb
Jeld selise b JULTPRLH: P S U g "

2. He was my best friend.

He - supject Jstd Was—varb s

3. This is his photograph.

This - supject ixiw | Is-verb

4. At nine o’clock, we all gathered in the classroom.

we all - pronominal Gathered -verb Leld
group
4 e 4o gara

5. He always does his work perfectly.

He - sabject Jst Does- verb i

i
\ ﬁﬁi Y ’@assrar_atket : gl Ao e +08EvAAALE—200Y+YAAOY (oL Wl —dunauladd] lodell Joloull 3y
S

%
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Each of these one-clause sentences has a subject and a predicate. The
predicate is what is said about the subject.

Jelil) aie Coniall g 5 vl 5 4l il 5 Ixise 5 Jeld Lo (s gind Jaall 020 a5 588 S

If either of those two parts, subject or predicate, were missing, the
sentence would not be complete.

Alei€a i () alaallé 3 53ie (predicate s subject) o sl aad (S 13)
However, in an imperative, the subject is usually unstated.
(Toas s o Glad 5e) s Bale Jelills jaY) dipa b oLl ollia (Sl

v’ e.g. Go study.

When the subject is missing, we assume that it is “you”, the person or
persons spoken to. The previous sentence can be expanded as follows:

You go study.

Ul 4l 4 s (585 A28 ) ot Sl o A (you) oo Jeldll o) (i i85 2 5m ga g0 055 Wl Jeldll
you go study sxas sk 5l g s (San il

DY) dipa & Jelill SN Y
The subject of a clause is a noun phrase. The predicate is a verb phrase.

Every finite clause has the following basic structure:

ales 45" 4ded o jle 58 predicate ) s ¢Mgel dlen 42 genl o e 5 clause Ul b il ) Jeldl

D SV LS 5 S 2 gana ahaia ) dlea JS oS Sl
NP (subject)+ VP (predicate)
(2iesall) & Alicio dled dlen + (Jeldll) b Alidie dyand dlex 58

MAWRID SOLUTION
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The man bought a new car.

The man (np) Jel&l Jiai Lpacd dlaa
bought a new car (vp)imal) Jiai dulad dlay
Verb Phrase (VP) : doladl) 3 jlual)

The verb phrase (VP) consists sometimes of a finite verb only.
dadd an 5 0 gana Jud (e Aaleall 3 5luall o) oS0
e.g. We all waited.  23se Liay) 5 Jedll 5a

More often, the VP consists of a group of words (verbal group) with a finite
verb as its head.

Jad aa( dphadl de sana) el (40 de gana (e ST 4pladll 3 lall (La¥) e S
Lely 835084

For a clause to be finite, there must be a finite verb in it.
2g3na Jad 3 g g (e Y Baaaa 38l mual

The verb can be either:  Lai &< 8 Jail)

1. Simple

A simple verb consists of one word.
pas) g dalS e 3 be Jasad) Jadl)

e.g. is, was, walked, sat, did

Aagedd) JuadV) Lgand cilalSt) oda

Fi)

iir W @assrar_atket : glus¥idsgene
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2. Complex Sz
A complex verb consists of a verbal group.
(a1 Jad (e ST (g1) Aglad ds gana (8 0 e

e.g. have telephoned, were placed, were
waiting, did not like, could see
Jad— Ja 3130 — o laca Jub LAl Adadl) e ganal) oda b
B . b

Finite vs. Non-finiteVerbs  2ass sl Jadll aca daal) Jadl)
Finite Verbs ddaall Jadl)

1S & (be) Jadll

. . is, are, am, was,
Finite verbs show tense, person and nhumber.

2=l g 2 8l g a3l W i ) e

The verb “be” in the following sentences is an example of a finite verb.
LA Jadl) e Jlie a4l Jaal) 8 (4355S0 Jad) “be” Jadll*

were

He is here. They are here. (person and number)

He is h They are here

€Ishere Jeb 3L T3 ¢ Gl il g g aan JoWY
Jad 22013 ¢l Gyl g 53550 Jeldl) (are ) 4isisl

(is a3 ssl)
He is here today. He was here yesterday. (tense)

He is here today He was here yesterday

435S Jad g palall (e ) 8 alaall o2a el 435Sl Jad g ualall (1) A Alaad) o a

(is ) el was

S
\. ’:’i& y@assrar_atket :thl.!?'h’naﬁ +088+AA4EE—+00YYAACY u'nlg‘)." —W‘ Cledill Jobud| 3ylge prrereTm
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Finite verbs can have three forms: g5 U Led Baaaall Jladl)

rd

1. The base form :
2.3 person singular

3. The simple past form

simple form) of of the verb
(simp ) form of the verb
() JSE0) e S Jall 3 jial) G Gl ddsa
Jadll
God @) Ll ¢ gy Jadl) oa e 4l Caliae Jadll ) S Uia 20sSa 8 Jadl) o Cayas Lasan
Jagd «(-ing Gex o) -ed () 525 2,8l Gl okl alile je - plaiia -
98 LaS (adl) -
e.g. walks, talks, drinks, e.g. walked, talked,
e.g. Walk, talk, drink, speaks (ed) L) Cauai aaliiall Jlady)

speak

JLl) e Atial cilalsl) oa Lezie Jadl) e (s) 4adlad) s38 Canai
o J2al Based) g sy okl a0 e Jeld Ll o S

e.g. drank, spoke

Uiy cpe Laa o Dladll e -
(g bl palall ey (A4

bl e

s+ Exercis

What is the form of the finite verb in each sentence?

rd

a. base form 4
b.3 person singular form

C. past form

1. The manager talked to the employees.
dadll B (ed) 29281 alal) (10 (2 52 g talked 2 Jadl)

(©)

. ) b
/ 2. He drinks coffee every morning. (b)
O Baadli Laay) g (s) 4 kall CalAl) Gl Aadle 399 9 a3 g drinks s Jadll
3 ke &l Gyl o g Jadl)
a
3. Ahmed and Khaled usually study together. (a)
il Adle 4y 250 Y Lyl g (ed) 42 223 Y 431 Bl g study s» Sl
(S) dal) &I
C
4. | went to the mall yesterday. (c)
80 ubua) Jadl) (o ulal) dipa g 9 Maliia i (ad 2" went s Jadl)
(b)

5. At eight o’clock every morning, my father goes to

work.
Jadll Llgs es Ul goes << go 2 dall Gullil) i hal) JS& g4 g goes sa Jadll

§fir / W @assrar_atket : gluidesene +0£6+A38EE-+00Y-YAACY (ol il - panlall ol Jylandf 5fga
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Non-finite verbs  33aaa &l Jlady)

Non-finite verbs do not show tense, person and number. The verb “come” in

the following sentences is an example of a non-finite verb.
(o LS 5 i e L ) el 5 el 5 paddll T Lde jedai W Al JladY) o4 teddad yull JladY)

v e.g.

I expect him to come soon. We expect them to come soon.

(person and number)

| expect him to come soon. (1) Js¥) ikl 8 adl g 3 8a Jolil)
We expect them to come soon. (We) A8 ikl 8 a8l g aaa Jolil)

&4 N 5 Non-finite verb 43 iy o LS iy oileal) 3S L “come” Jadl) -
L) g (i)

He is coming now. He was coming at the same time yesterday. (tense)

He is coming now. (B aall) palal) (e B 13a
He was coming at the same time yesterday. Al (a8 1

el A s 585 Y "coming" Jadl

Non-finite verbs can have three forms JKaI &30 Ll saaa yaall JdY) joa
1. The infinitive shaall daa

The infinitive has the same form as the base. It is often preceded by an

infinitive marker “to”.
(t0) 25 siadll diua Lo Lgiuy Lo Ll 5 (Japusd) JSE) 4pulisl) dipa (i 4l jaad) dapa

In some cases (e.g. after modal auxiliary verbs) the infinitive is bare

(without “to”). (to) o (ste) A& Hraall & S YR (any A

o

MAWRID SOLUTION

I
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For example:

| am waiting for him to come. (Infinitive with “to”)
Al B Jadl) U Jay Jadl L) dial) (e 3 Le come § to + Jdas (& 3 Le ((to come) Js¥) JUall
( coming ) sl ing Al Giliay alg (came ) sl (bl G Al Ad) G Ady jual ol al AY ol
He can come tomorrow. (Bare Infinitive)
) 2 O o A Y Jadll ) J i b g e Jad (52 can ¢ <l s come (B Al can Jxdl) A g8

, sas sla Jadl) g dpulid dipa ; Ciela ((come ) &l gind dpul) dia A A 3 Ly Ll pal g) 4dla)
sdry A Jadl) 2% da iy Jab sa g can Jad Wl (N L) () 8 (i has Cplag

2. Present Participle (also called —ing participle)
(ing-participle) = Lyl cex 35 ¢ (—ing ) 4d) llas Jadll o8

v' e.g. walking, talking, drinking, speaking
Present Participle = (—ing) 4d) <ilias Jaé (gl 13
3. Past Participle (also called —ed participle)
aliia Jadl 138 IS 13 Alla i -ed 4l Ciliay oalall (30 ) 3 b JS 13-

v e.g. walked, talked, drunk, spoken
e ye S uidl s Jlatia (ed) 4 Giladl Jadll of ls 58

MAWRID SOLUTION
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+ Exercise

Decide whether the underlined verbs are:

a. finite

b. non-finite

1. He was able to walk after physical
therapy. (b)

b 23 ey Jadll a1 Jeldl) s cajad )

2. He is making a chair out of wood. ( b)

LS iu making d=dll of Baadt Jeldll jpms a4l
J;AAJ:\{:"}A’\'J\‘}A

3. He made a chair yesterday in his
workshop. (a)

ey Jadl) a5 38 Mad a8 JaadU Jadl) s Uy e 1)
- o Jadlld g 0 U e ) e )

4. You should spend more time studying.

(b)

dad yan Y spend dadll o Jaatie Jelall s Ly ja 13
& 5 b e J=b sl"auxiliary model" e sls Y
Nas 2" s spend J=dlls (should)

5. They spend time together every
Thursday morning. (a)

Aaa g 1A Jadll juaid Jelal) Gly 13)

Finite vs. Non-finite Clauses

Badna pall da oasall 3 5luel)

A finite clause is a clause which has a finite verb.
._A;M&éécé#o)ﬁghcdéﬂ\oﬂ\jicjw\

v e.g. He is waiting for the headmaster to come.

The previous above example has a finite verbal group, “is waiting”.
o le" & Sl Ly s (is waiting) 2 s "finite verbal group — e33ss 4ilad 4c saaa e JUe s o3l S5 L
."finite clause - s33sa 5y sl

He is waiting

i

L

&
=3

y@assrar_atket : gl s game +0EEeAQAEE—+00VVYAADY (ol pf —dunautaild| Clboutiell Jokond| 3y90 prpememeTes
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A non-finite clause is a clause which does not have a finite verb.
A@Mdﬁé&@jﬁuy&l\o)ﬂ\gﬁ adwgu):\ﬂ\a‘)w\jio)\_.\aj\

In the previous example “for the headmaster to come” has a non-finite verb

“to come”, but does not have a finite verb.
s3dna & oy ol o le” cla Ln 4515 (to come) Jxdll Ll s ¢ (the headmaster) st 5 Jeldll Lual

"t0" ge e dipa e cla 4 ) (Infinitive with "to" ) s s

s aadad e ssinn Y oS 5 (to come) st s ddae e Jab e (s sy (for the headmaster to come) 1)
non-finite clause - s33aa & 5 38 5l o jle™ ga cuandl 13g]

At least one clause in an English sentence must be finite.
sdne JBY) o saal g i (0S5 o Cang 4y Salas¥) 4zl 3

Simple sentences consist of one finite clause.
3aa) 93320 B yad (e allii adayunl) dlaal)

v e.g.Heisastudent. |Is  majud s
Aoty dlaa 38 13) ¢ saal g oddaa o 8EM Ll

Compound and complex sentences consist of two or more clauses with at
least one finite clause. I o) (6 8 (e Callii sdaall o) 4K jall Alaal)

v' e.g. He is waiting for the headmaster to come.

He is waiting Baisa b 88 A
for the headmaster to come  53:aa & 5 88
Aaad) Jaiil aaa Job o g giad Y1 o saal g5 588y 5<0 0)) quang

MAWRID SOLUTION
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Lecture 5

Verbal Groups adadll Cile ganall

Verbal groups can be of five types:

Type 1 Modal +Infinitive: could see, will come

gl5l 5 e S Aladl) Gle ganal)

Modal  Could

-5l juaal) o) g pall jaaall) 2 See
(Barelnfinitive

Modal +Infinitive Ll Ga 13

Modal & Will

-.\3:&“\ JA.\A.A.“ K] @Jﬂl\ JMAJ\) % Come
(Barelnfinitive

.. Modal +Infinitive Ll Ua 13-

Type 2 Have +Past Participle: have telephoned, has begun

Jadll Past Participle J) 2 Telephoned
"telephone"

plhiila Jab A(—ed ) LV Jadl) Lo Ll

<"begin" Jsill Past Participle J) s# Begun
Past 1 Al 8 Jadl) J<& a0 1M aliiia pi Jad ga
Participle

(Had, Has, Have) + Past Participle 1)
(e s ol plila 8 8) el 33 o sy o

Type 3 BE +Present Participle: are coming, were waiting

(BE) 4isis J2b Are
(-ing) M Gilaa Jadl) Coming

(BE) 434S J2d Were
(-ing) A ilaa J2ill Waiting

Type 4 BE +Past Participle: is grown, was broken

(BE) 43538 Jad [
"grow" Jxill Past Participle &) # Grown

(BE) 434S J22 Was

Jadll Past Participle 4) & Broken
"broke"

Type 5 DO +Infinitive: did not like, Did you know?
a3l o5l ol padldli" S35 (finiteverbs - s3daa Juadl) & 433 JudYl s3a¢ (Do, Does, Did) ¢sSi % DO )

(Infinitive-_suad) ) agd) ilas "l

DO »» Did

Al juaal) o) g pall juaall) g Like
(Barelnfinitive

b @ "Modals" = 5L & :Barelnfinitive
V'DO" ae

DO ! &kl disa 52 Did

J;é.’d\ Jdaall @)@3\ J-\M\)J& Know
Barelnfinitive of " — "know" J»ll
.("know

1<

2L
-
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The first four types can be combined with one another to form more complex verbal
groups like:
itlin muadl (Uany aeS 8 Ol oSedl G 131) "combined -cuS A" 1515 Of aeiSar (V1 an Y1 g 51
(s peaS 5 DA e Taiins JiST aglan o LSSy 0 g odine Jan pd Jea¥l) Tt ST addadll e ganall

Ahmed will have finished that book b\f Friday. (Type 1 & 2)
1) aall i paddll o el S lele 550 Y (Infinitive -_ias) o sl o3 8 "have"  will + have
(d‘s“ﬂ\ t}d\
Have +Past Participle = ( &% ¢ 51l 52 1) have + finished
Cany Laghy ) 2ie B 5 J V1 ¢ 530l G (combination— caS jll) W s Jiall 138 13

He has been learning English for four years. (Type 2 & 3)
Ll e 6l b g e S e gl has been learning

"finite— 2s«"<has sls (S g 51l 58 138)  has +been
"Be" Ll Jaill (e 353k (been)Past Participle+(has, have, had) s &

..been s» "Be" Al Past Participle 13-

(G g 53l sa 12a) been +learning

"Be" J=ill Past Participle Jl 545 (Be) 455l J=& been

.. (-ing ) 4 Cilias J=dll siPresent Participled! s Learning

He will have been learning English for five years by next October. (Type 1,2 & 3)
(JsY) g 5l s 13a) will have

(Infinitive - x=d) Have Modal Auxiliary Will

(S & sl 98 1) have been

"Be" 435Sl J2é (1« Past Participle ' s» Been oxcldll & "Have" Jl & Have
(&Gl ¢ i) 8 1) been learning

" have" - i L&Y (been) i 5 wxclill i"Be" ) » been

Adadll Gle ganall (e Gl & gll W ¢ gl 45 51SH Jadoay Gl ¢ Present Participle s# Learning

MAWRID SOLUTION

’:ﬁf y@assrar_atket:gw?m,w +088+0AAAEE—+00Y+YAAOY ol o —duoudadldf Siladeld Jolonlf 3)fge

36




The president could be seen by everyone. (Types 1 & 4)
Modal Auxiliary Could

A1 "to" RS L ol 5 3 ol "be” of sy "Be" 4 5usl) Jadl Infinitive iad) disa La Luil Be
(Barelnfinitive -zu_sall juadll)

Past Participle of verb "see" s» seen 415Kl 28 Be

He is being called now. (Type 3 & 4)
(Ll & 530l 58 138) s being

(Be) 4 5:S)) Jad |s

being =(—ing ) + (Be) ¢! « (—ing ) + J=dll sa 5 cPresent Participled! »» Being
(&N g5 58 13a) being called

"is" o Gl Y (—ing ) A llias ¢la Lia (KI5 (Be) 435uS) J2é being

Past Participle of verb "call" s Called

All such groups are formed in the order 1, 2, 3, 4, as follows:

1 2 3 4

Modal + (Have +Past Participle) +(Be +Present Participle) +(Be +Past Participle)
AL U8 el e sl e S 8 il g sl i e JsY) 8 S p sl Jass o LSy Y T

Gl + S+ Y G+ Y e sl e i il e )5Sy of qaag Gl

@\@\J\+‘;\t\]\ &}\l\ c@\)ﬂ+d}\j\ &}.\S\

Note 1: The meaning of the verbal group is contained in the last word.

o Al 4Ll ‘_%A ( contained -3‘;\ ) agdzdl) 4o ganall izl

MAWRID SOLUTION
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v" e.g. He has been learning English for four years.
L(Aass aid o) aleal) a3 8 Laadh g (595 5) "Function” i ag) calaall a8 ixe 5l 1Sl Y has been

( Lexical meaning -sasaall Sinall @llai ) gl ¢ il @l |earning
s AV AR (e M3 aglaill de ganall 8 il T3 el e 5l el L GadE" e Cidati s Lia

Note 2: Only the first word of a verbal group is affected by person, number and tense.
The first word is what makes the group finite.

(finite— s33a2) 4 sanall pran Jaad i) oo 4gledll de ganall & (U5Y) Jaill 51 (531 4alS))
e.g.
He has been learning English for four years.

"has" st (JsY) Jaill 5) (A1 4l e o gay Juaill 5 adins 43ld 4 gane Lia Ll 1)

| have been learning English for four years.
..(Non-finite— s33s4 &) < Lagia SIS (¥ Lt LS Ly (learning 5 been)-

They have been learning English for four years.

..(finite— »23a4) 4gledl) e genall maan Jra 3 58 Uia J 5V Jadll 13)
5 "has" 332 &) Jadll e 3 gmy Juadll 5 0334 4ulad 4c sene 4 (has been learning) ol J sl aadais 3%
Aladl) 4 ganall & Cela ) 1Y) ALK

Exercise
Choose the correct order for each verbal group  zesall cuii gl Al

1. a. have seen could b. could seen have

c. could have seen d. seen could have
OY ) oY el ) Jball L (b, ) of Las gd ol HLadY) o8 & Modal J) e &

(Past Participle) s\» "seen" L b, could seen have

«(Past Participle) J# i " have" ob W# <3 LS~ "have" L c. could have seen

2. a. have should been doing b. doing should have been

c. have been should doing d. should have been doing
(d. should have been doing) s 4y i "Modal" Gle s sing (3 aa sl sl o Baadls

5
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3. a. has been studying b. studying has been

c. been studying has d. studying been has
(Have +Past Participle) s& 5 4l 8 & G & 5il) e Giagin 13 ¢ Modal Wl ax 50 Y

(a. has been studying) JWAY) & laliaa 6 « (has) s " Have" JUall 1 i

Verbal Group Types ladll Gl ganall £ 53

Type 1 Modal +Infinitive

® The main verb which follows a modal auxiliary will always be in the bare infinitive
(without “to”). )
40" Al Jadl) 138 G o 053 = ) (Bare Infinitive) Lils ¢ 5 Modal Auxiliary 4 asis g3 bl Jal)

v" e.g. can see, could see
couldtosee sl cantosee Jsll i€y ¥

Siah sl e a4l gl (Bare Infinitive) s "see" bl Jadll Lia

* Modals are not affected by person and number.
el 5 padilly Lele 55 Y Modal I

v e.g. He must know how to speak English.
They must know how to speak English.
3ad) 5 il U e Lavie s opillal UK oo o5 iy ol

e All verbal groups beginning with a modal are finite.

(finite -0 52353) a8 Modal = 125 il 4dedll Cile ganall S

Type 2 Have +Past Participle

This type is an expression of the perfect aspect. “Have” is used as a helping verb (auxiliary
verb). The helping verb “have” is finite and changes according to person, number and
tense.

33a4) g "have" 2eludl Jadll (Auxiliary verb -aelus J28) S 233540 " Have" (Ul cuila U et g8 ¢ 6ill 13a
Lol 2l padal) a5 4l laws o3 U S5 (finite—
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For example:
He has read the book already. (present perfect tense)uadill 5 2l sy i3
We have read the book already. (present perfect tense)u=asill 52l cuny s

The students had already gathered in class when the teacher entered. (past perfect
tense)

MHave " 3 bl disa & "had" s <" had" Lexdind T30 osbe ela el 138 (a3l Cannas a3

Type 3 BE +Present Participle

This type is an expression of the progressive aspect. “Be” is used as a helping verb (auxiliary
verb). The helping verb “be” is finite and changes according to person, number and tense.

AsE A

U3 b (finite -22a%) sa 5 «(Auxiliary verb -aclua J28) S 2335040 " BE" sl cula Al juet sa g il 138
el o aaall o el Bl R
For example:
He is coming. (present progressive)
They are coming. (present progressive)
2all g ad &l e iR 8" BE" 4 il Jad ) La Jaadl
sl 5 222 G Ol yixy 6 ¢(finite -01a3ad) Laa 13gd ¢ asdll 5 a3l s |3 (are - is)
He was waiting. (past progressive)

They were waiting. (past progressive)
oasdll 523l Cas |5 (were -was ) of Liad L Laadls

Type 4 BE +Past Participle

This type produces the passive voice (in contrast with the active voice).
The verb is active in this

example:

Ahmed broke the window. (active voice)

The verb is passive in this example:

The window was broken. (passive voice)

MAWRID SOLUTION
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¢ Exercise
Decide whether the type of the verbal group in each sentence is:
a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)

c. Type 3 (be +present participle) d. Type 4 (be +past participle)

1. The machine was fixed.(d) dséall ) ) (Passive voice) ) 1o Jba 1
2. He can fix any machine. (a) 130 (Aasaasl) diuall) pabuad) Jail) disay Un £l "'fix"
Jo¥t g sill e JUa laa

3. He is fixing the machine. (c) g5l sy (progressive aspect) J s Jua ‘3:53‘
018

4. He has fixed the machine. (b)) 4 g 5 525 (perfect aspect) I de Jia 138 13

Type 5 DO +Infinitive

In this type, the helping verb “do” is called an operator. We call it an operator because it
helps in a number of operations performed on the verb phrase (VP). Some of these
operations are:

4Y (an operator -Sule) w s 523 a3 Jale sl 334 (5) (an operator) = = " DO" acluall Jadll & i) 138
; Clleall 038 (yany (VP) 4aladl) o jbal) e ( performed— s 533) Sl (operations -lee ) ) e 230 b acly
Operation 1: Negative
To form the negative, we put “not” immediately after the operator.

(operator) J 22 1,58 (not) AalS muai () e Y il At lua La,f 13)

v e.g. He does not want it.
(operator) 4 2 " not" “anai (L dleaa il gl) Al ¢ fal S

"does" s 5 (operator) Jl 3 " not" Lial 4leall a2 3

v They did not come here.

[ 4sdie operation J o3 Jaail g1 | (il gaail " not" sass aliss < "did" 525 (an operator) Lul lia
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Operation 2: Interrogative (question)

The interrogative is formed by placing the operator before the subject and leaving the
rest of the sentence unchanged.

S Y o LS aleal) 48 5 4palgiinl aleall Janl "Jelil" Ji(operator) I g

v eg.
They come here.
"Do" s (operator) Jl ¢ sSud "s" Caa Y 5 bl (50 (come) s Adlall oda S

Do they come here? (interrogative)
el dapa b dadll Jand Y co o8 gl uaty (e e Ll ¢ s o) alaall 48 5 agadl 3" DO" AalS Liniia 5 Laié

Operation 3: Tag question

He did his homework, didn’t he?
(No -¥) 5l (Yes - axi} 58 S il J) gl () s ol salld

Yes, he did <ufia Gl sall of S 5al (e ¢ sSam Jlsad) 138 8 oS-
(operator - Jale) JI sa"did" allall o2 4

They don’t come here, do they?
S gl Jpes W &}“‘:’ L;X Lia olicadiul (operator - dal.:;) Jl & Do

No, they don'tdda ¢ sSis 3Sall (e Gl sal)

Operators Jal 52l
In addition to “do, does and did”, operators also include:
:Jaii Al (operators - Jalse) <lia « (do, does, did) ) 4yl
1. The modal auxiliaries (can, could, may, might.. etc)
v eg.
Operation 1: He could not come.
Sl &rail "could” (operator - Jale) ) ax "not" Lima g
Operation 2: Could he come?
Aalgdinl arpa lelaad alaall 43l 8 "could” (operator - Jale) Al laa g

o
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Operation 3. He couldn’t come, could he?
A8 5l J) s gaail "could" (operator - dale) I Lisasiul

2. “have”, “has”, “had” as helping verbs (and sometimes as main verbs in British English ).
S pgedding Ladie (operators - dA“QQ) S pgeddind Ladie Al Jladls ji saclue Jlails PYBARERIY Sadll (e

Aillay ) ARLl A Auald Adla o3ed dgulud Jladl a6l adsiial 5 (operators - Jel s2)

The following are examples of “have” as a helping verb operator:

20las Jai€ L (an operator—ule) ()5S Laie “have” I (e ¢ s 4l 4liay)

Operation 1: They have not come yet.
8 adeall A2lua Jaadl " have" (operator - Jale) Jl a2y "not" AalS Cels
Operation 2: Have they come already?
Analgdivl aapa Lldaad alaall L)y 3" Have" (operator - Jale) I
Operation 3: They haven’t come yet, have they?
2S5l Jl gy daad " Have" (operator - dale) I el

This is an example of “have” as a main verb operator in British English:

Operation 2: Have you any money? (British English)
Compare:

Do you have any money? (American English)
b hd o1y aliy) juatl (operator - Jale ) S ashaiiul @l ((main verb - bl J28) < " Have" 055 Laie
. gyl aalll

Oos Ay Salai¥) 4all) 8 a0dE8 ) 5 L J)se Aelual selus J2iS " D" 52 5 (Operator - Jele) axiiui fale
Aty ) ARl b Lealatid (Sadl)

3. “am”, “is”, “are”, “was”, “were” as main verbs and as auxiliary verbs.

The following are examples of “is” as a main verb operator:

bl =i Ciilas (operator - dele) 05S Ladie “js” (e () 5K 400 ALY

Operation 1: He is not here.
4uiie aleall Jaal o2y "not" Lidial WY (operator - dale) sa gl iy 5 bl J28 58 |
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Operation 2: Is he here?

"ls" T3 AT Jad o ax 0 Y el alaall drpa Jaail aleall dylay 8 olina g "Is" (Operator - dale) ) L)

Operation 3: He is here, isn’'t he?

(The main verb -xsluY! Jadll) sa

(main verb -oslul J28) s Ca 4l (uds 5 (operator - Jale) A1 52 Is

The following are examples of “is” as a helping verb operator:

delise JriS€ Caliak (operator - dal.c) 055 Ladie “js” e (oS 4l alial)

Operation 1: He is not coming.

i alaal) delpa Jaad s2ay ela "not" oY (operator - dale) s 5 aclue Jad s |5

Operation 2: Is he coming?

Al Lelany 5 Leapaid aleall By 8 olieadiul 5 (operator - Jale) 58 5 aclue 28 58 |s

Operation 3: He is not coming, is he?

S gl g W ganl A oliaddiul 5 (Operator - Jele) sa 5 aclue J28 s |s

«» Exercise

Decide whether the underlined verb is:

a. a main verb operator

b. a helping verb operator

C. not an operator

1. They do not come here often. (b))

ela 5 aclua J28 8 5 (operator - Jdle) s8Do
s adaall Aelua J2ad "not" sae

(The main verb - L) J2dll) 58 come

2. | have not seen this movie yet. (b))

sla 5 aclua J2é a5 (Operator - Jsle) saHave
& adeall delua Jaail "not" sax

(The main verb -sls) J2dll) 58 seen

3. Do you have a copy of the movie. (c)

5 (The helpingverb -xcluall J2dll) s8 "Do" 13
D) U aad aleall Alaly i oliasdiul
(operator - Jale) S L 24505 ol "have" (Sl
(ol Jai ol L ¢ pud) delual

4. Heis not here. (a)

- dale) 2 5(The main verb -bu¥! dadll) sals
A 2x3 "not" dass il Uakal 5 ¢ ((operator
"is" (operator - Jale)

5. He isn’t going, is he? (b)

sl «(operator - Jale) s 5 aclua Jad sajs
"is" aeluall Jadll alasinly 3 5l Jl g

Fi)
T
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Lecture 6

K/

% Form and Function  4&k )l 5 el
Form is what the word/phrase/clause look like.
(5,58 \ 5 ke | AaS) 14y jeday Al jelaall 5 S5 s

v’ e.g. noun, verb, noun phrase, verb phrase, relative clause
"3l ZJA;.“"J}».A}J\ e.m‘}“ alaa ‘A:Jaj 3ole cdaal 5 e (Jad ‘f’“‘

Function is the “job” of the word/phrase/clause in a sentence.
Alaall & (58 \ 5 ke | AaK) (e 3 ke o A4k )

e.g. Subject, Verb (Predicator), Direct Object, Complement

Jadll 5 Taiadl ) Jelal)

s Exercise

Choose (a) if the given term refers to a form and (b) if it refers to a function.

a. form b. function

1. pronominal group (a) ) elaall (8 g) daall sl (8 43 ppacall Ao sanall
" SN (e Ao sana gl — alen Ak gl 5Ll 4y ela

2. indirect object (b) (NP) 4sand ole (5Ss Le Llle 5 caiilay s

3. complement (b) o obe sl aaSlagdas oo Ji SlaSl gl e

o

4. subject (b) (NP) 4send o sbe (158 e Llle 5 caiilas 5a

5. noun phrase (a) Lo & Lau) 5 lall

Functions of the Noun Phrase (NP) drany) 3 jlal) caills

1. Subject of a Clause Lo dlan o) 53l faisall o) Jelal)

As we mentioned in Lecture 4, a sentence needs a subject in order to be

complete (except for imperative sentences where the subject is unstated).

058y deldl) of Gum e Jad pliiuly | ealei®a ruail Jeld zliag alaadl o) Zaol )l 3 jualaall 8L S5 LS
[-goas " Led

S
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v e.g. The old man is here.

old sThe - ?¥3%4 » man (The head -o+/JV)  Jeldl a5 41aul dlea The old man
2. Direct Object of aVerb L Jxdl )il 4 J saidll

Transitive verbs require an object. Monotransitive verbs take only one direct
object.

v e.g. Ahmed finished his work.
Finished "dsidl saala3¥ Jaé - Monotransitive" s 5 Jelé s

His work Ua Jadll bl Jsniall 5 Apend 3 ke &

(bl Jsmadl) o5 b am ol Juaa¥) @ o S allall a8 5 aleall o3 8 a5 4y Jsmie Lial 13-

3. Indirect Object of a Verb L J=& jilu pall 4 J s2adl)

Some transitive verbs require two objects. These are called ditransitive
verbs. They take a direct object and an indirect object.

ilae uadl 4y Jsmial) e 3l g5 il 4 Jpmiall (e anl g 3205 JLadY) 038 5l smie e (5 giad A 3Y) JladY) Loans

v e.g. He gave Khaled a book. (... gave a book to Khaled)
06Si Uogeall alazly LLiSUly s geio La OUS U shacl 9o
(WU OLS (sdacl 90)
bo coods & Wasw Sl esuidl 9o Y § al pilo @ Jgeio book Jl (susy
bo ésain iy SVl pazxadl 9o GV € ad ol jue a4 Jgeeo khaledg

v" e.g.The shopkeeper sold him some snacks. (... sold some snacks to him)
0585 skl ALeadl 5 i) Clm sl any 5 4l smie Uin i)l sl Gany Al gl sa
(4 Aasall Gl Il Giany Ul £1y)
Lo (o ad dhasgy (Al (23l g a3 € 4l yilw 40 Js2ie Ome snacks i

Lo (o Al (o) () ga 43V €4l Hdle e 4 Js2ie him P

FI
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ALl o
) Al (pa RS (i (0% TS e Lindh 4 Gy g1 Gall) gl 5l g8 sl () saiali®
) ] La il dglass
Lo lindh (AL 1) (addl) g pdlse i) J grdal
(Al J sadal) A for 5l to ga i ) J grdall®
ke i (b for + 9 + to sl Jerda + Jab 4 Jolix*
lal) J gadall 3B AL for ol to sy e ) J gadal)
SAla Jsada (for +5to G ) ska p Jsrda + Jad + Jolbkx

4. The Complement of the Subject +BE (is, am, are, was, were)
(be) 43 5uSl) Jad + Jaall alesal)

A complement is a word/phrase/clause that completes the meaning of
another word/phrase/clause. It is necessary for the meaning to be
complete.

A58\ 5 le \ RS inall Qa5 il 58\ 5 le | 4alS ;8 RSl iy ja
v' e.g. Ahmed is my best friend.

o8 O el ¥ 4 Sl Jadl g Jelill AleSa 2 5 (Jrall Alaia ye dlaal) maais Ll 52 my best friend
a5l (Ahamed is )

Note: When the complement is a noun, it must agree with the subject in
number and gender.

oaiadl g md\gdsuﬂ@éﬁio\ a._dé(m\idASA\ OsSI Ladie
Ahmed is their uncle. (not “uncles” or “aunt”)
Ahmed S 2 8 uncle S 3 e

A3 5 Y 5 ) LeY(aunt) O aolein Yy aaall L3 488155 Y 5 wen Y (uncles) sk o) adaios Y
OS2 58 o QY (e s 3 e 535S O QYT (e gL Guaiall
Sarah and Huda are their aunts. (not “aunt” or “uncles”)

Sarah and Huda &lsae>  theiraunts ()5 aen

o
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485 Y HSH A (uncles) Jsi o) galawsd Vg, 2aall (8488 55 Y 53 )36 oY (Quint) Jsi o) el Y
Sl 535S o) QU e g aen 5358 o) U e gy L Gaial)
The full verb “BE” in this example only serves to join the subject and the complement

together.
L L&A 5 Jeldl) e oy 8 e axdy JEA 13 & o) 455U Jad

In this case, the full verb BE is called a Copula (=something that joins things
together). There are other copulas in English, for example, the verbs

“become” and “seem”.
Alia any i) Loy L (25 58 5 (copula) Bl J2éll ey (be) 45 5uSl) Jad allad) 030 &

(become - seem ) Jud¥) Jie i€l Jzd e 4y 5alaiV1 42l é s A0 (copulas -4k ) Jadl)
5. The Complement of the Object 4 Jsadall dlesal)

v e.g. He found Faisal a good student.

2 Gl L5 (a good student) Uis ALl | JaiSe (555 =l (he found faisal) L
e 5Ll VI Jgmiall (i€ (585 () imal T30 JeiSa
In the previous example, the noun phrase “a good student” is the
complement of the direct object “Faisal”’. Compare the examples in (a)
and (b) below:

AL ¢ (faisal) il 4 Jsxiaell Al a5 (2 goOd Student) dxew! s jluadl Glad) Jid) 8
olial (@) 5 (1) A

a. The teacher found Faisal a book. b. The teacher found Faisal a good

The teacher found a book for Faisal. student.

The teacher found Faisal to be a
good student.

In example (a), “Faisal” an
indirect object and “a book” is
a direct object. The sentence
means that the teacher looked
for a book to give to Faisal.

In example (b), “Faisal” is a direct
object and “a good student” is

a complement. The sentence
means that the teacher thinks

that Faisal is a good student.

il e 4 Jedafaisal” () Jall B | g bl 4 Jgrde o "faisal" (w) JEaN B

0 Alaal) . y8lha 4 J ada st "abOOK" 3 good "y salg 4 Jgadae a6 (el
G glac QUS (e diay alaall ) O) i Adaad) Adasi 4 Mg student
A s ga Juasd o Jiay aleal)

nnnnnnn
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6. Object of a Preposition oall cal Jgria

Prepositions are words like “in”, “on”, “of” and “off” which are normally
followed by a noun phrase. The noun phrase that follows a preposition
is called the object of the preposition.

i A Aaan¥) 5l | daend 3 ke Lile Lali S (in, on , of ,and , off) die ClalS & all Cig
o Gial Jsrde 50 e G

v e.g. We are in the same class. v e.g. He walked on a high

platform.
In A A On Acia
The same class A high platform
Al Goal dsrde a5 Aaanl B ke (o Al sl i a5 Aanl 3l (oo

In the same class Lsosally Jiall 3 ke agzansi [ On a high platform
Doy Jalls e agrens

In the two examples above, the noun phrases “the same class” and “a high
platform” function as the objects of the prepositions “in” and “on”
respectively.

ol Gy al JseieS GBlery (a high platform) s (the same class) 4sen¥) Gl jlall o3le ) cpllial &
Sl e (in, on)

-

7. Appositive to another Noun Phrase A" dranl Alen 5" danl 3 5kal ol
An appositive is a noun phrase (NP) that describes the same person or thing
as another noun phrase (NP) that came before it.

sl O 1) Ll el ) o laall (5 AT dgand o jlnS o LA Ll sl Gl Gl Choay dgand o jle 8 1 Jal)
(V) azanl o jlaadl & 5 sSaall ¢ i) gl adl ] (pudi Coual 4 4gans)

(i

L

)
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v e.g. Your friend Ahmed Al-Ali is here.

Your friend 9 dransl B jlue
Ahmed Al-Ali Jall a5 Al dpan) 5 jlal)

In the previous example, “Ahmed Al-Ali” is an appositive. Itis in
apposition to the noun phrase “your friend”. Both NPs “your friend” and
“Ahmed Al-Ali” describe the same person.

Ofans¥) Gl WS (Your friend) 4samy) o jlall Yar s¢d Ju s (Ahmed Al-Ali) ¢l Judl 4
andi addll et (Ahmed Al-Ali) 5 (Your friend)

We will talk more about apposition, including apposition types, in the next
lecture.
Al o yualadll 8 [ Jad) gl il ]l e (e 5 el g ya e ST Caatin
+» Exercise

Choose the correct function for the underlined NPs:

a. Subject b. Object c.Complement | d. Appositive

1. His father gave him some Dibe dr Jsnda a0 Sl Gl 540 Jprie 2
important advice. (b)

2. Ahmed’s uncle lives in Riyadh. (a) Jeldll a5 4l 3 ke &
3. Ahmed’s uncle is a successful o ALK Al oda 8 (Mis" aay Ali&h ) Zlias
busnessman. (c) el oLl
4. Khaled has a lot of booKs in his 13) Tilos Ll LeS g ¢y ym Gaals (NP) o Lasdls
room. (b) Jasi Lgld o o yay Cils sl o jlae Ll (IS

ol il J gmies
5. The teacher gave the students e pe 4 Jgrie g8 (gave) d=dll 4 J gnia

exercises. (b)

6. My brother Saleh studies at King ) 2 el and 43V (o) o2 aliu) L gladdl) )

Faisal University. (d) ¥l e 35 (oA el ) Gl e 250 525 A
"d}‘)“ (uh!\ U‘“‘" 95\")53“
7. The manager found him a hard 4 Jsniall Ja&4 58 i 40 Jsrde (ad

working employee. (c)

S -
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Lecture 7

% Types of Apposition Jad) &1 53)
In Lecture 6, we mentioned that one of the functions of the noun phrase (NP) is as

an appositive. We defined an appositive as a noun phrase that describes the same
person or thing as another noun phrase that came before it.

Of W LS ¢ del gl Shin Cam ¢ 5 bl o2 8 ST U5 aie Chanin g ¢ Al 3 pualaall & Jad) Laal o5 S
u;ag@m\"é‘)hc}h_idﬂ\ NP_\LMJ)AS;\:\:\M‘}”BJL\Q\}‘awy‘o)hﬂ\w&jh\}hj:\s.\bjﬁ Jadl

3 et adi Caiay dganl 5 5le 9 ol ) L Ld8 Caela )3 jladl (5 AT dgand 5 LS o i) i ol padldl) i
(V) A1 5l ) sSaull ¢ ) i

In this lecture, we will discuss the types of apposition.
Apposition can be either restrictive or non-restrictive.
(2350 58 ) e e ¢ ((20ma) e o5 3 Jadl Jal ) il 8L B pualaall sl S

A. Restrictive Apposition sl Jall
v' e.g. Your friend Ahmed Al-Ali is here.
In this example, the second NP “Ahmed Al-Ali” restricts the meaning of the first

NP “your friend” by giving an answer to the question “Which friend?” We call the
NP “Ahmed Al-Ali” in the previous example a restrictive appositive.

o= (your friend) (I s¥) 4san) aleall Jiaall 285 (Ahmed Al-Alj) 45l 4xany) ddaall ¢ JEdl 138 8
Ju @) JEal L "Ahmed Al-AL" 4sesl) daall e 3lai € Gavea (ol Ol gl sl asty L) (33 )k

e

Note: In this type of apposition we do not use commas before and after the

appositive.
Jadl 2y 5 8 Jual 8 20ais ¥ Jadl G g sl 1 i r ddaadle

MAWRID SOLUTION
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B. Non-restrictive Apposition Bda uall Jall
v" e.g. Ahmed Al-Ali, your old friend, is here.

In this example, the first NP “Ahmed Al-Ali” is a proper noun which is unique and
does not need modification. The second NP “your old friend” does not tell us
which “Ahmed AI-Ali” is here but only adds information about him. We call the NP
“your old friend” in this example a non-restrictive appositive.

4.:\.1&\ :\.*a.u\}“ M\j . dﬁﬁaj Cua..o g ;u.n\.m ?“\ (Ahmed Al-A||) LA}‘}“ :\:xm.n\}“ BJ\.}:J\ u\

ol 8 585 (A el apa3 (a5 4dlia) 4a sl e 5 5ke 8 (your old friend)
(32 ye) Jia e o dsens Gl 13gd (1Y) 4ans]

Note: In this type, we use commas before and after the appositive.

Jull 2y 5 U Aleal axiiioesy Allal) oda b - 20l

PERA)

Claglea Jany aba pall L) J)ow 8 cuag 38l Jad)

s Exercise
Decide whether the appositive in the following sentences is restrictive or
non-restrictive:

a. restrictive b. non-restrictive

1. The shopkeeper Othman is a Bia gl Coaiy Jgha e aliald
hard working man. (a)

2. Dr. Omar, my Linguistics o o) o pmiy Jaal) ey g Ji8 ablald 8 L
professor, published a book. (b) e
3. Majid and Saleh, my cousins, o 51 Gpaiy Jall amg g J8 alald 8L
will visit us tomorrow. (b) e

S
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Prepositional Phrase (PP) = _sosalls Jall s jbe
We mentioned that a preposition is a word like “in” or “on” which is followed

by a noun phrase (NP)

NP dsanl o by 1528 ) (in, 0N, .. €tC. ) & 8 alei LS jall Cagya
v' e.g. Mohammed is in the classroom.

In this example, the phrase “in the classroom” is called a prepositional
phrase. It has a preposition “in” and an NP “the classroom”. The function of
the NP in this sentence is the object of the preposition “in”.

in the classroom - sl Jadl s ke
in - oallaa
(in) sl il Jsnia Ll a alaadl oda 3 aganll o Ll da)ka g

A preposition normally comes before an NP, but it can also be separated
from its NP as in:

u'aa_)ce@.:u;j.ﬁj);.“AJ);&@MY\@JM\M&QQ}&WY\aJ\,\ﬂ\dﬁ‘fﬁ);ﬂdPOiwﬂ\QA
Gl e alaall 8 jedai Y 8 4gan) il ) (laY)

v' e.g. The man is standing on the platform.
What is the man standing on? ¢ daLll gy il e
The platform that the man stood on was very narrow.

laa Al dall Ll (ol Al aaid)

However, in these examples, the association between preposition and NP
still exists.

Lan¥) dleally all Cipa G s 50 JI) Le L il callaldl ells 8 sl

~
T 3//

MAWRID SOLUTION
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¢ Prepositional phrases can express a number of ideas, including:
tdadii 5 JSEY) e dae e i N s aall 5 sl il e o

1. Place Jsd e.g. The book is on the desk.
Bk aladialy L g pdd (e (8 Cyal) LiiSay Lo g o (S (8 S Jg0mag S B (A
29 ally e
2. Movement Jaull — Jaiy) e.g. He walked to the mosque.

OSa )

&% e . N ®
Jal) S JEEY) e jiaS A s e 5 a3 ole A

3. Time ¢l — <d sl

e.g. | finished the exam in one hour.
o 13 LAY Y gl ) aie o il
LB gl el e S s 5 S Boke

4. Manner s — &l - bl

e.g. He finished it with little effort.
B 2 S L sl Ailg) a4yHh
Aola 5 Cosld o il )5 ey Jla bk o8 1Y)

5. Purpose —4lé — (e —dayi
WYY
o) dlalaia) gala - Soaddll 1aa ) ol 138 Ja "
"l g e Jganll gl La gl Jaal by

e.g. This message is for Ahmed.
Lo paddl (e G el (o 5 Domas Jla B ole (o
B o e o) ) 2l o s ) Al sda 1)
(2eaY Lgphel o

6. Agency

e.g. The window was broken by the

young boy. (Passive)
Al - Agency) Jl os siS Hgomes ol 3k A
(Adassl 1 )

7. Instrument 3l
Al o G () gl 4B haa - s a8 /Jia
4 s Jadd

e.g. | wrote with a pen.

Lia 4l 3108 g pen Cwaiil
BVl e i jsme 5 JaBole (A

(i

L

)
AR
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% Exercise
Choose the meaning expressed by the Prepositional Phrase in the
following sentences:

a. place b. time C. manner d. instrument
1. My office is located on Riyadh OSa sil gl 5l (e
Road. (a)
2. He graduated college with a Al La
good GPA. (c)
3. He fixed the door with a Ll 73y 48 jhaall araiil
hammer. 3la) A 13

(d) |

4. They will visit us on Gy s) g ) aadally GuEY) @ g L) S
Monday.(b)
5. The artist finished the wisaiall ool dnlic A s
sculpture with great talent. (¢ ) CYEVELENPERR

Functions of the Prepositional Phrase s sl jalls e caillag
1. Adjunct &

An Adjunct is a word/phrase/clause that provides additional information about another
noun/phrase/clause. It is an optional part of the sentence. If we remove an adjunct, the
meaning will still be complete and the sentence will still be grammatical. It is not a necessary
part of the structure of a sentence. Adjuncts are usually adverbials.

058 @il s AT (word-phrase-clause) e 4lal 4astes 235 5l 5 (word-phrase-clause) ce s ke s
s (il il 131 13) Alead) (e odbactivd (Saall (g T3] Maleadl b (5 LEST o 5a " ((oal 31 Gad) o S
"Cag sk — adverbials” ¢sS5 Sale al sl "y il sel @l o abibia 4 pad i el 5 Slia

As an adjunct, a prepositional phrase is considered an adverbial phrase because it does the same
job as an adverbial.

3oke Adla s 05 Latie (g)) 4l Jae udi Jani LY 4k o jlnS Jalad o) S 5 el 5 Jladl 3 jle ¢ aliS
(S Lebee e oS Lebee (Y 4 STall o el Alebaa Jaled Ll "ol 5 paally sl

o

MAWRID SOLUTION
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An adverbial is a group of words that does the same job as an adverb. In other words, adverbials
can be used to say when, where or how something happened.

(s 5ol 5 i) oo Losas A a1 Jd) (adverb -dial) dee (i dast Al LS (0 4 gana o8 3 4 1)
AP FUIPK P U PRSP

S Jalad g sl 5y pmalls Jladl il e il 555 Laie

v' e.g. The man stood on a high platform. (adverbials of place)

This prepositional phrase (PP) is an adjunct that tells us where something happened.

The man stood.  Waa aleall eleiil Akt aal O ofedl) (o g alaia alea P

Lidazal 28 Ligd ¢ il u..g\ P c‘zg\...a\‘;uul.\s...a\ 2y Sd (ona high platform) @UL\&A\ 13) oSl
Gaall 4 G Al IS

on a high platform glSe e Uyda A Witdagg o Hyymay slabobe Lghiua ¢ 4ila 4 Hla oo
salasiny M‘ij\@éJjﬁ)p@m\uihﬁus‘jcLA;@Q}J;

v" e.g. | finished the exam in one hour. (adverbials of time)
This PP is an adjunct that tells us when something happened.

in one hour s «leall e Walagind (Saall (e el (o8 5 Hgome 5 ol Boke A5 4ie) 4 )k oo

saal g el 3l sa T3¢ Lo e L gd) 3 aia 3 o jidl) e U 5l Lgila

v e.g. He finished the exam with little effort. (other adverbials)
This PP is an adjunct that tells us how something happened
with little effort Leilla Lle Ul g3l Jlal 138 b Lia 5 s al il yla Ll Ta)

(Gl 2gans ol € JLmaY) el () o oo o A0S e U iy ol Lia 13
aleall el 4dadi i 5 He finished the exam : Jsi of LSy 48 ali 5

MAWRID SOLUTION
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Note: Compare the definition of adjuncts in this lecture with the definition of
complements in Lecture 6.

asdliall o pualadl) 3 Lali S5 3 COURAN (5 o jualaall o3 3 Ll S5 i) al sill Gy () s
A complement is necessary for the meaning to be complete. If we remove it, the

meaning will be incomplete and the sentence will be ungrammatical.
o OsSiu alaall 5 Jai€a pe 0 S iralld JaSAN Laeind 13) Saia inall (55 o Lo ,i 130 cda&Al) ) s
P
An adjunct is not necessary for the meaning to be complete. It gives extra

information. If we remove it, the sentence will still be grammatical.

i inald A Uaainn) 13) alea) 8 ol ) 4 slen () 5Sy ail Adlia) da slae Y inall JLSY (555 0 e &)
Y les LS Gy alealls inall (81 5 4l an sheall i Uil mosa il 45 5a3 i aleal) 5 i Y g WS

Ol
GIA g y5 i e il 5 calaall 3 el JLSY 4y ) 5 i L&A 3

2. Complement of Subject +BE a5 Akl Jad + Jaall 4lSa

v' e.g. The book is on the desk.

In this example, the prepositional phrase “on the desk” is the complement of the
subject “the book” and the main verb to BE “is”.

JaiSh e mall ruans Whiseginl WY 4l&i el 55l 5 a3 e Wy on the desk
i e g alaia pe aleall G Siu aleall olgll Ak Ui g &5 The book Ll 13)

3. Post-modifier in an NP danl 3 ke (A (gamy Jaee

v" e.g. The desk in the classroom is covered with books.
In this example, the prepositional phrase “in the classroom” modifies the noun
phrase (NP) “the desk”. The NP is the head and the PP is a post-modifier because
it comes after the head.
algdall e la glae Cancay 568 s3n Jare 58 5 caanY) o jlall (e e 32 ¢ in the classroom
Dl b jle ul€ 13 Lo o el Lgadiias 43y yhall 038 131 ¢"it" 5 (The desk in the classroom) Jladiul ¢Seall (e
Aans o Ll (e e 3 5l
in the classroom s >4y &l e, Y 3 5Lal) the desk

Gl amy aela WY (gamy Sk & Jsoaally Jlall s ke 5 el (o8 4l o jlal

MAWRID SOLUTION
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4. Complement of an Adjective 4iall 2l&s
v" e.g. Ahmed is good at Mathematics.

In this example, the prepositional phrase “at Mathematics” is the complement of
the adjective “good”. We will discuss adjectives in more detail in the coming
lectures.

(good) 4eall ik&s & (at mathematics) Lsoaalls Jlall 3 ke JUA 13a
el 5 jualaall 3 Gl il LS o gus

*»Exercise
Choose the correct function for the underlined PP.

a. complement of | b. complement c. adjunct d. post-modifier

subject+BE of an adjective in an NP
1. We finished our exam in 2 Cela Ll LS a3 43k 4 in 2 hours
hours.(c ) @ SR p s e it gaes
2.We visited the big shop in the G ol Gl o in the mall sl oda 3
mall. (d) 23 dalay Ul gl ) inadl JUSY o Ll 038 dalay
— (oS il e agdlia) 4a lae Lishaatl o jlall
the big ) 4wl o jlall (gary Jara (& il 13¢]
(shop
3. Mohammed is fluent in % ((Mohammed is fluent?) :J & Lexe
English.(b @ = g o0 B gl o0 e gl
(b) =4l JSY "in English"
4. Ahmed was in his uncle’s dad + Jelall alsa 4 in his uncle’s house
house.(a) 43935
5. Ahmed’s uncle has a big TV in i 4dla) dasla LY (a5 o (in his house)
his house. (c) Dl s be dads g aleall & el JUSY 4 )5 pa

AlSa ad )l (gd (als (A )yl

MAWRID SOLUTION
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